DR (-3,0) (V,0\(4,0
— (E)'ﬁwhc* ofce-z‘ﬂ..
y 3 46D Y - wirercepts ?
AR SRR
@ wWhok s ¥ne
‘, wneher czq-\' ’
N=2 o (032')

, @Whda trerdls 1S
® ot S ML Domarey, o ?,\ ?os(\'\\fc'f
)

(-4, 57 (;5')




(2 l@_wmm
(Rnd) S > § o K

-F(x\ 2 (¥ne valve o‘?\j oY
a Specrhe “%

$(2) » whaak s Yhe voloe £\ |

(4w Suncnon) wWnen ¥ = ..

B Lon - 2xs 3 =)
4 Bvalushe §C3) = (s + 3(H -\
- 2(28)*15-\ . SO 5°)
£5) - la"\




\: -Bx-l- 5
B gl

A4+ Y
h (XY= S
; 4

1%
A %('\3 n
E\M\QG\:—). h (b\ - 3 = -"\3
‘ (&) - h(-12
+ 9







